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401 Al HIZL R 0HbI 1,300,000 300,000 1,000,000
[ 650,000
[Ea 650,000
01 Al&HI 1,226,000 294,000 932,000
OStEM Mol A M=Kl SHIAS
1,226,000,000& 1,226,000
= 613,000
= 613,000
02 Zcltl 70,000 5,000 65,000




A QHEAS D
Hu: =9 AW USHSPHY L

Rl Mo E X+ Zol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OStEM Mol E M=K JHIAIY SAtZC
9 70,000,000& 70,000
= 35,000
Ea 35,000
03 AIESTHYI 4,000 1,000 3,000
O EM Mol E M=Kl ZHIAIZ AIZ2=
Hl 4,000,000 4,000
= 2,000
Ea 2,000
SO ol A X7 EHIALS 1,500,000 300,000 1,200,000
= 750,000
o 750,000
401 A& HIX R0 1,500,000 300,000 1,200,000
= 750,000
o 750,000
01 A28l 1,415,000 294,000 1,121,000
OS&HNl oI M +=Xl ZHIAHZ
1,415,000,000& 1,415,000
[ 707,500
[Ea 707,500
02 Zeltl 80,000 5,000 75,000
OsSAtHl Mol M=Kl SHIAIY SAtZC
9 80,000,000& 80,000
= 40,000
Ea 40,000
03 AlESTHYI 5,000 1,000 4,000
OS¢HHl THoHAIE M =Xl ZHIAIE A2
Bl 5,000,000 5,000
= 2,500
T 2,500
SEM MHoiEM=X HHIALS 200,000 0 200,000
= 100,000
[Ea 100,000
401 AIEHIX S0 200,000 0 200,000
[ 100,000
o 100,000
01 AlZ2H| 165,000 0 165,000
OY&EM Mol &M=l JHIAIZ Jl2
HAIEAHES 65,000,000 65,000
= 32,500
Ea 32,500
OHEM Mol M=Kl SHIA
100,000,000 100,000
= 50,000
Ea 50,000




FA AL
HE: =0 AW USHSYHYL/ Y - S&)
Rl Mo E X+ Zol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 Zeltl 34,000 34,000
OHEM Mol E M=K JHIAIY SAtZC
9 34,000,000& 34,000
= 17,000
Ea 17,000
03 AlESTHYI 1,000 1,000
OY&EM Mol & M=Kl ZHIAIZ AIE=
Bl 1,000,000 1,000
= 500
T 500
SHM Mol AS K=Kl EHIA 200,000 200,000
= 100,000
[Ea 100,000
401 Al HIY S CHYI 200,000 200,000
[ 100,000
o 100,000
01 AlZ2H| 165,000 165,000
OS2 Mol &M=l JHIAIZ Jl2
HAIEAHES 65,000,000 65,000
= 32,500
Ea 32,500
O=ZH Mol M=Kl SHIA
100,000,000 100,000
= 50,000
Ea 50,000
02 Zeltl 34,000 34,000
OSH Mol M=Kl HUIAIY SAtZel
= 34,000,000 34,000
= 17,000
T 17,000
03 Al 2 CHHI 1,000 1,000
O=&H MolASE M=K SEIAE AILF
ul 1,000,000 1,000
= 500
o 500
SEM Mol AZ M=Kl EBIA 200,000 200,000
[ 100,000
[Ea 100,000
401 Al HIZL S 0HYI 200,000 200,000
= 100,000
= 100,000
01 Al&H| 165,000 165,000
OSEHl MollASE M=K SEIAE Jl2
HAEAHES 65,000,000& 65,000
= 32,500




2A:

3N =g Zd8y9 & goferdl/s - &)
Rl Mo E X+ Zol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 32,500
OSH WHPIEHEX ZHIAL
100,000,000 100,000
= 50,000
T 50,000
02 Zeltl 34,000 0 34,000
OSH WHSIBHEX ZUIAL A2
9 34,000,000 34,000
= 17,000
o 17,000
03 A& S CHYI 1,000 0 1,000
OSEH Mol M==Xl A AIL2H
Bl 1,000,000& 1,000
= 500
s 500
St 2 (SSEMALT/THHET - 212kel) 15,061,813 9,503,4% 5,548,317
= 903,000
= 3,205,000
= 900,000
T 10,043,813
Moligls ot JIgt= 15,061,813 9,503,4% 5,548,317
= 903,000
[ 3,205,000
= 900,000
[Ea 10,043,813
2otd SHIALY 824,000 580,000 244,000
401 AIEHIX R0 824,000 580,000 244,000
01 AlZH| 824,000 580,000 244,000
O2otd |2l 150,000,000 150,000
Ogd8g +=3c| BEsaotd SIHA
20,000,000 20,000
Ogds S| ot=40td NEISA
10,000,000 10,000
O&=H el SeHAotE NMYZESA
40,000,000 40,000
O&2Y dtgel wZAcH HHIHISA
15,000,000 15,000
Ostu® stue| da46td HHIAHY
20,000,000& 20,000
OstuH &2 dRL401d WEWIHE 3
At 100,000,000& 100,000
OgltH stefel F&itES =S Aot EHl
Ard 96,000,000 96,000
Ol 22| =a40td ot EHISA
80,000,000& 80,000

_15_




2A:

M S (SSEMUCHE /T - 2lgte|)
Cel: Mol8l= otd JIgR=s EER=E)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
Olisd 22el 2246t HUISA
38,000,000& 38,000
OLtatH  =afe| THeAGHY ZHIS A
15,000,000 15,000
OLdtH 52| 8246t Mg AR
Ated 10,000,000 10,000
OLtAEH =2ke| HotAGHE HBISAL
30,000,000 30,000
OtlE2™ 382l NFAGHE A2 FHIA
A 80,000,000& 80,000
OFO0H N2l RPHASHE SYHAXIAY
20,000,000& 20,000
OE0H el SEA0HE WE S
AHZ=CIHICHAIS) 100,000, 000& 100,000
¢} |HE =4 60,000 47,000 13,000
401 Al&HIZ 20| 60,000 47,000 13,000
01 AlEHI 60,000 47,000 13,000
== HZASHE EEAY
20,000,000& 20,000
Osth YLASIA ELAL
10,000,000 10,000
Ostn s8EAGHe =EAY
10,000,000 10,000
Ot AXe| LA (KIYSHA)EIRNE &=
A 20,000,000& 20,000
JHSHO e Sh& el 87,620 57,420 30,200
202 Odt| 2,520 2,520 0
01 =WHO4LI 2,520 2,520 0
Octe2e|HR =2 FHL|
20,000 =2 x63 2,520
206 M=l 27,000 27,000
01 =l 27,000 27,000
OMol S8+ +=YAUHM 2L OHsH)
3,000,000 & *9JH 2~ 27,000
301 LBBNZ 3,100 2,900 200
14 JIEt2 43 3,100 2,900 200
OdtEtis==2 2elel 243
50,000 *31H*23] 3,100
401 A& BIZ 200 25,000 25,000
01 Al&Hl 25,000 25,000
O0IE&XI(Lotd, Xgota) 2 Al
25,0002 *1,000m 25,000
405 XHobE S| 30,000 30,000
01 AL =EF S| 30,000 30,000
O=s=2 Ul tige=I| &
30,000,000 * 104 30,000

_16_




FA AL
M Sl (ZDEALOE /T - 21
=2 Moligle otd Jigt7= (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= A4 EHIAL 10,000 5,000 5,000
401 Al HIZL 201 10,000 5,000 5,000
01 Al&HI 10,000 5,000 5,000
O % ti=Ald2 FHIAIS (Bi==AIE, b=
2, i=32ds) 10,000,000 10,000
AT = 30,000 30,000
302 OI==H o2 &= 30,000 30,000
02 2t S HES2a=3 30,000 30,000
OMct mahol HE ALFAIE THEHXIZ S
30,000,000 30,000
S=MFAIE EXIAY 120,000 120,000 0
401 Al HIZL 01| 120,000 120,000
01 Al&H| 120,000 120,000
ORFMFAL (22, 23) |KAA2IAY
120,000,000& 120,000
2ot R X 2= (FeH2) 60,000 60,000 0
= 60,000
401 Al HIZL 2018 60,000 60,000 0
= 60,000
01 AlZ8| 60,000 60,000 0
OZJIotd FAEa=(F4H)
60,000,000 60,000
= 60,000
2K E =402 2) 843,000 405,000 438,000
= 843,000
301 EtE N = 5,000 5,000 0
= 5,000
14 JIEt2 8= 5,000 5,000 0
O=Jlotd =2 ==22cli 24=
5,000,000& 5,000
= 5,000
401 AIEHIZ R HYI 838,000 400,000 438,000
= 838,000
01 AlZ2H| 838,000 400,000 438,000
O=0t6td |42 2)
838,000,000 838,000
= 838,000
NotE SHIAI 165,000 120,000 45,000
401 AIEHIX 20HH 165,000 120,000 45,000
01 A28l 165,000 120,000 45,000
OXlgotd FX2= 20,000,000 20,000
Ogdgs 2tac iU N2 EHSA
200,0003 *300m 60,000
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2A:

NE: GiE B (2DEMLOE /T - 21
Cel: Mol8l= otd JIgR=s EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot std HYE2ILEDAHFLIH S
Ated) 50,000,000& 50,000
OO BAH HYEZZ THBN
35,000,000 35,000
KATHOH AIBONEXF FHI(EX) - A&2XF 3,940,000 1,000,000 2,940,000
= 1,970,000
T 1,970,000
401 Al HIZL 201 3,940,000 1,000,000 2,940,000
s 1,970,000
= 1,970,000
01 Al&HI 3,935,000 995,000 2,940,000
OdlZ NMAMMHASEMNEX = SHIAL
3,935,000,000& 3,935,000
= 1,970,000
o 1,965,000
03 Al 20HHI 5,000 5,000 0
OdlZ NHATHASINEX T SHIAY Al
Satilsl 5,000,000& 5,000
QEALHE FHl(HE) 2,090,000 1,000,000 1,090,000
401 Al HIZL 01| 2,090,000 1,000,000 1,090,000
01 Al&HI 2,090,000 797,000 1,293,000
Odi2d =Hcl La4sctd ol
2,090,000,000& 2,090,000
FotAactE FHI(HE) 2,800,000 1,000,000 1,800,000
401 AlZHIZ SO 2,800,000 1,000,000 1,800,000
01 A28l 2,800,000 797,000 2,003,000
OglttH stefel datiotd FH|
2,800,000,000& 2,800,000
HtSstaas 29 5,180 0 5,180
201 er23| 5,180 5,180
01 At2tltl 5,180 5,180
OMtSetaad 230 HE 228 7Y
250,000 204 500
Odoliti® & 2I1E SY "Hld=2F g2+
#S 95 S20§AlH|
8,000 0 52 *QI A 3,240
OJIMEEA d&d 22 gR+ds 2?8
SZ0HAHI 8,000& 9 »20 1,440
HtEHl RA2el 9,304 9,304
201 er23 | 9,304 9,304
2 35234l 9,304 9,304
ONsiaz2 T2 g XS]
508 *2,2002*102/+7& 7,700
OME X=Xt SE8Ees & NSl
250,000 *23] 500
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2A:

g 5}@%5(2—%2M9—49@/1HH@XH )
Cel: Mol8l= otd JIgR=s EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMeXIZ e REUH(ESR)
1,840 +50c| B« 12 1,104
THoHOIl Al E R Al2tel 100,914 100,914
201 er=23y| 96,274 96,274
01 AtR2t2|HI 4,000 4,000
Ot E=lSH=ES M=
80,000& »502 4,000
02 S52g4l 92,274 92,274
OXNENEEAFI| FNES
420,000 «2CH« 12 10,080
Odtdti+==2 &IRk=s
16,0003 » 150 A+ 128 2,880
OSEE SMRAL (23, 28) I3
75,0003 201 A% 128 1,800
OEE =MFANL (28, 28) Stie3
85,0003 *x2H A+ 128 2,040
OXZDISEASI(HSY) Stz
175,000& 122 2,100
Otf=8od &=
500,000& * 1004 A+ 12 60,000
Ofi+BIE S22l
70,0002 x9CH+62 3,780
OYLY=EIIY ST
79,0003 900 A+ 128 8,532
Ol 2N sSESEAILE 7R2c
15,0003 590 2= * 122 +10% 1,062
202 04l 4,640 4,640
01 2LHoIH 4,640 4,640
OXSH Lt TIoHEAL H2 =& =LHOH]
20,0003 x2& »60! 2,400
OTOITL U 51Xl XS &4 29
=8 ILHoIHI(22)
70,0002 x2H+53] 700
ORI 27HE HEXD U DS &4
AR =3 IAHAHI(22l)
70,0003 x28 11 1,540
NEELdMHY 24 29,39% 29,3%
201 el 1,000 1,000
01 At22t2lt] 1,000 1,000
OXNS =gyt 222 A
50,000 *20H 1,000
202 04dl 420 420
01 =LHNHI 420 420
OXASLME 2 24 NSEFA(22)
70,0002 x3H *23] 420
301 2= 17,200 17,200
11 AALAEIXIE S 1,100 1,100
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FA AL

I 5%@%5(2—%2H9—4‘3&/1HH%XH )
Cel: Mol8l= otd JIgR=s EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNS M s FIHL WSH AN
10,0003 x30& »23] 600
OXtsLMe g5 2 nsFAHI(Y
THEH) 50,0002 x5 *23] 500
14 J|Et2a s 16,100 0 16,100
OXNE XM L= 2|
100,000 »140H 14,000
OXNS =M doi2d It
15,0002 1402 *13] 2,100
302 OI==H o2 &= 10,775 0 10,775
02 2RI S ES243 10,775 0 10,775
OXS =g Me Mol ofleh 2S8|
9,620 *4A| 2+ 140H +23] 10,775
Sof 28 2 7,400 0 7,400
307 lztol & 7,400 0 7,400
06 2= 7,400 0 7,400
OS2 B8 3,700&+2,000& 7,400
SHAGHE 70,000 700,000 630,000
= 35,000
Ea 35,000
401 AIZHIX S0HH 70,000 700,000 A630,000
[ 35,000
s 35,000
01 A28l 70,000 700,000 630,000
OSUAGHE FHIMS(ADIEEASZEIAA
g =) 70,000,000 70,000
= 35,000
= 35,000
SeofdEd Sl - W2tk + 2,400,000 0 2,400,000
= 1,200,000
Ea 1,200,000
401 AIEHIX R0 2,400,000 0 2,400,000
[ 1,200,000
o 1,200,000
01 AlZ2H| 2,400,000 0 2,400,000
Oggs W, JIZXN7 Ssofdgd S8
HIANE D2 & dAIEHES
2,400,000,000& 2,400,000
[ 1,200,000
[Ea 1,200,000
2ot ZHISEHE 500,000 0 500,000
401 Al HIZL 201 500,000 0 500,000
01 Al&HI 500,000 0 500,000
OABHE BHIZENE 28 29
500,000,000 500,000
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SN HERAED
3 ol & AU (SSEMKL A /THLT - 2129])
Selr o gas2st (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-t ZAH M 3,000 *500*12] 1,500
S5 M 1402+31,00004*12 4,340
-ARIIDI(PC, ZEiH 8) o
150,000 90 A% 104 & 1,350
-A2F 28 100,000 *QIH 2+ 13] 900
301 EtE NS 3,100,000 0 3,100,000
03 ALl 2 & A 263 (XY E) 3,100,000 0 3,100,000
(OFAI=J\ I-NEet=)
100,00024+31,000E 12| 3,100,000
SUHoH 0il'gt 103,476 0 103,476
201 ger= 3| 101,756 0 101,756
01 AtR2te|H] 101,756 0 101,756
oot e Xt A 6,300 x270F 122 20,412
Oosd2elxt A 6,300&*x270E «12& 20,412
O 1=I~1=P), 20,000,000 13 20,000
OXgetI=Y 4,000,000 22 8,000
OSU Moo H&E 10,000,000& 10,000
OS+=AdZd &I 6,200,000 6,200
OSUHoHH e HPus
500,000& %12 500
OAlgd= ot EH W=H|
200,000 6 1,200
Ot EA o2 W=H| 11,200
-t B A2 Y Xt 100,000 *1& 100
-2l BSA 90,0002 ~40& 3,600
22THFIIU])
300,000 6 Al 2H+43] 7,200
SZ2IHHEA 1F) 300,000& 300
OZ22 Xt AN EA FI|Ws &9
70,0003 %42 280
OZ22 Xt LA EA HIWE WEAZ
M 100,000 #4323 400
d20t 25 = 120,000 22| x2& 480
OZgle 225 e
320,000 x15+43] 1,280
OAREZ(A24)7H
100,000 *43] 400
OSUMaHHY gFF8 S20AHI
8,000 x2S »62! 992
202 04| 1,720 0 1,720
01 =LHOLI 1,720 0 1,720
OSU oM SR=X 04| 1,720
-2t2| 04| 70,0003 x2E *22] 280
—ZLHO4H| 20,0003 2H+3&x 123 1,440
ARt 2ol 2 S 143,630 225,002 A\B1,372




od
i’
oF
uJ

-

KIO

Hlw

2,500

22,500

27,500

/5,000

N6,526

250

250

MEE
Ofl &k2h

78,000

58,000

50,000

8,000

16,026

4,250

4,250

Ofl &F2H

iy

52,300
91,330
80,500
32,200
48,300
80,500
32,200
48,300
77,500

H

H

H

rH

30,000

Iy

12,000
18,000

H

10,000
4,000
6,000

10,000
4,000
6,000

10,000
4,000
6,000

H

Mt

W

H

iy

H

10,000
4,000
6,000
7,500
3,000
4,500
3,000
3,000

iy

rH

iy

H

1,200
1,800
9,500
3,300
6,200
4,500

H

rH

Iy

]

1,800
2,700
4,500

iy

H

4,500

1,800

H

- ESS

- SRA(E) - HIRAY

S - B

o
1[3]
110y
1[5
K]
ol

ol

01 AFS2t2ltl

30,000,000

30
0H

il

10,000,000

10,000,000

30
0B

-

il

ol
n0
RD
KJ

10,000,000

10,000,000

7,500,000

30
OH

.

nJ

A0
RO
K]

Kio

KD

]

80

2

SH
=

03

3,000,000

Ho
0p
10y
[z
K]
oJ

01 AtR2te|b]

_uu_
50
D-

ol
<]

H

o
0K
110y
1[3]
K]

4,500,000
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FA AL
3 ol & AU (SSEMKL A /THLT - 2129])
Rl AIRIIN 2SR S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,700
301 LEtE NS 5,000 4,800 200
== 1,500
[Ea 3,500
11 AALAEIXIE S 5,000 4,800 200
OorxBot B2 Xg
5,000,000& 5,000
= 1,500
= 3,500
AN Zst2 S (XHA) 11,630 11,630
201 er=23y| 2,000 2,000
01 AtR2t2|HI 2,000 2,000
Octd e A& M M=
20,000 »1002 2,000
202 04| 1,710 1,710
01 =LHO LI 1,710 1,710
OUTE S P24 2Yoi|
20,0003 x38 182 1,080
OQHNgR 2t Ws 4 IHoBI(22)
70,0003 x3E+3& 630
401 Al HIZ R 0HHI 7,920 7,920
03 Al2 = THHI 7,920 7,920
OoN-ts dHl gxtg 7,920,000& 7,920
0 HEMIHEE It (EX) 42,000 39,346 2,654
S 16,800
= 25,200
201 er23| 42,000 39,346 2,654
= 16,800
o 25,200
02 S3=4gl 42,000 39,346 2,6%4
Ozl HNSHEEE It
42,000,000 42,000
=S 16,800
s 25,200
2HdE 29 3,060,992 568,970 2,492,022
= 650,000
[ 800,000
s 1,600,992
CCIVZMIMEH 5 & 29 592,042 470,976 121,066
201 et 3| 589,642 469,6% 119,946
01 At22t2l] 3,920 3,920 0
OV 2HHEH 28 22 s ?e S2
OH&lHl 8,000& x2&»05& 1,520
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2A:
X XH -
o e

=aak

. = SIE]
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
OCCTV 2 HME 230 HE At
200,0003x15+12& 2,400
2 55234l 585,722 465,776 119,946
OCCV dE2dz 80,0002 x220CH* 122 211,200
OCCTV &=l = 10,0002 *90CH* 12 10,800
OCCTV(3toet) |XIZ==I
110,000 *900CH 99,000
OCCTV 2tHIMIE (GtESI01) KRXE=] 33,407
—~SEH2HIAH 10,450,000 «2CH*8% 1,672
-HEg NE, 26 A
11,620, 0002 «6LH*8% 5,578
-GISAIH] 8,360, 0002 +1CH*8% 669
-2&E2X 300,000,000 *1CH*8% 24,000
=N NsE ZANH
8,360, 0002 *1CH*8% 669
-=2HIE A58 AdMAH
8,360,000 1CH*8% 669
-ZHXE s g2t
1,870,000 *1CH*8% 150
OCTV2HIMIEH (AZEYN) FXIE2==H] 19,990
-SEH MH 2ZEO
9,900, 0002 +2CH*10f% 1,980
-HEdg MY, 20 ~2ZEYN
19,700, 0002 *5CH*10% 9,850
-GISZLIHE AZEFY N
22,000,000 «1CH*10% 2,200
~SEZLIHE 2ZES0
440,000 ~20CH *10% 880
-2HtY F&/B HES AZEO
17,600, 0002 *1CH*10% 1,760
—CCTV IHAR = 22| FAIZ2==H]
41,500,000 1CH*8% 3,320
OUIERIA Ul KRAI2=H] 9,480
-HEAAX 63,580, 0002 1CH*8% 5,087
-VPN( S 5HEH]) 4,840,000& *1CH*8% 388
-2t 44,770,000 *1CH*8% 3,582
-NTPAIHH 5,280,000 *1CH*8% 423
Ogadtl |AI2=H| 9,538
-IP2 2A=S2{(IP-Wall controller)
44,398,000+ 1CH 8% 3,562
-SSMOAIAE 2,310,000 «2LH*8% 370
“GUBEANLAE 35,200,000 *1CH*8% 2,816
-IP Zte|AIAE 35,000,000 *1CH*8% 2,800
OADIEAIEl SEEAS(SHEAN) RAEL
=4l 28,674
-SSEAS AU 57,650,000 *1CH*8% 4,612
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S QHEAS T
M THOH L THHAGIEH B2 L LA /THLETH - 218k2)
ol 2tHHY 29 CEEREE
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
-SAH MH 24750, 000& *4CH *8% 7,920
Mz & MH 11,210,000 * 1CH*8% 897
-gl 83t 34,000,000 *1CH*8% 2,720
-VPN( S 3H&HH]) 15,214,000 *2CH*8% 2,435
-3 ALK 4,850,000 *BCH*8% 3,104
KW AT Y A 2
2,563, 000& *2CH *8% 411
-2g ot 2,002, 000& *3CH*8% 481
-AQIE A8 2R AH
7,207,000 *3CH*8% 1,730
-ZHIXE 24 HH
13,611,000 *1CH*8% 1,089
-0t2 A AH 24,200,000 *1CH*8% 1,936
—LED HICIWALL 8,367,000& *2CH *8% 1,339
OADIEAEl SEEHB(AZEANH)SXNE
Z=H| 26,484
—OBMS(CIIOIEHIIOI A 2tel AIAE!)
30,000,000 *1CH*10% 3,000
—-gAa=EHE AEZY ATEY N
20,000,000 *1CH*10% 2,000
ATSP FAME AZEN
30,000,000& *1CH*10% 3,000
M0t 2,841,000& +6CH*10% 1,705
“HEAF AERY ATEF O]
30,000,000 *1CH*10% 3,000
-SEEHE L 500 HAHAMHIA AZEN
30,000, 000& *2CH*10% 6,000
-WS,GIS S 10,000,000 *1CH*8% 800
-0r2gs oAl 22,000,000& *1CH*8% 1,760
—2HE NsE M 246
930, 000 *8CH*10% 744
-ZHMXtE XIsE HAEDOIA
239,000 *50CH *10% 1,195
-ADIE dg8 2l 220|9E ATERIN
700,000 *x4CH*10% 280
-AQIE dY 2R 24 elolaA
100, 000 *300CH*10% 3,000
Ox - &1 AAHAABISXIE 2| 3,469
-HICI MH (47HE) 594, 00024 +73CH 8% 3,469
OREFEMIAEX L HAHEI| S 2]
600, 0003 *4CH 2,400
OMHOIMSA L OIS2LHES AIAE 3
al=d 1,400,000& *1CH*12& 16,800
OlISLMESAIAH SXE2X (2 SH)
160,000 1CH*318JH & 50,880
OAIEELZLAIAE SHR2
100,000& #5300 A~ x 128 63,600

_26_




SA: QIEASD

3 ol & AL (SSEMKL A /THELT - 2129)
ol 2HdE 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 2,400 1,280 1,120
01 2LHoIH 2,400 1,280 1,120
OCCTV 2 MM HF=8 =0
20,0003 x2& »60! 2,400
CCTVRtHIEIE 22 AL 2,458,950 87,994 2,370,9%
= 650,000
= 800,000
= 1,008,950
201 er23 | 7,200 5,994 1,206
01 AtR2te|Hl 7,200 5,994 1,206
ObtolA A X &84
200,000 *40IH*90f% 7,200
401 AIEHIZ SR OHYI 2,380,000 76,000 2,304,000
= 650,000
= 800,000
[Ea 930,000
01 A28l 2,380,000 76,000 2,304,000
OL= CCTV Al 10,000,000 *40H 2= 40,000
OABIQHEE CCTV &%
20,000,000 #2012 40,000
OLUIXIE Jlgt AlEE td 2] ALY 25
Ared 1,300,000,000& 1,300,000
= 650,000
Ea 650,000
OICT JIgt OrdS= Lol 2EA
1,000,000,000& 1,000,000
[ 800,000
[Ea 200,000
405 AHaHE = 71,750 6,000 65,750
01 It =S F = 71,750 6,000 65,750
Otlae &l 1,500, 0002 *5CH 7,500
2ot Wil 46,500,000+ 1CH 46,500
OCCTV A cetol& A 0K
365,000&*50CH 17,750
DR 2 (SSENMLE/THHET - 2122l) 234,512 235,510 A998
= 15,182
S 16,573
= 203,787
ole u=x, =2d 3t 234,512 235,510 A998
= 15,152
< 16,573
[Ea 203,787
plgtel W=x,8d 24 24,918 21,728 3,190
201 Ler23 | 22,088 18,898 3,190
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FA AL
ZE: 01U 2 (DDEMULOIT /LUK - 2Is)
el DIErR s &3 AEt (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 405
s 1,013
OIS A=E(EHI)
2,000,000 2,000
= 600
o 1,400
03 A2 I 3,192 3,010 182
oglgtleld e (=&Hl) 334,000 334
= 100
= 67
o 167
oottt AZe 22FHI(=H])
524,000 524
= 524
ONgeg2At s4(=%Hl)
2,334,000& 2,334
= 700
= 467
o 1,167
22 Al 2A & UEIH &S 13,275 17,347 A4,072
201 =3 13,275 17,347 N4,072
01 At22t2lt] 810 810 0
OHI&UULIAIE SXI2clH]
27,0003 #2004 2 540
Oglglel 224 |2l
270,000 *10H 2 270
02 S3=gHl 12,465 16,537 N4,072
Ogrel FEAE ||
65,382,000 *1CH*8% 5,231
Ostud 2lgtel B2AIE FXE4H]
30,424,000 *1CH*8% 2,434
o F2A0E 883z
400,000 = 1CH*12& 4,800
oiblz SdXI& 42,620 42,620 0
308 AtXIEMSOIE 17,270 17,270
VoblzsdXNEEEExX 17,270 17,270
OssrgeEls 2AN
4,000,000 4,000
O=2=2U <=2 2,000,000& *22 4,000
OXdsd & siygd 23N 3,270
-2 21,0003 +x30H x4 2,520
—2HAlH| 150,000 3 450
-OFAMHI 100,000& 3 300
OouldlZel & A2 1,000,000& 1,000
OX(oid)oblz 29X 5,000




FA AL
BB DIgte] 20 (DDEMUHE /T - 2121
el YR WS 2 Hat (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
X (oid)oblz st
3,000,000 %141 3,000
~TI(015)0HIZ 22|
2,000,000 %14 2,000
403 AXIEHHS X201 25,350 25,350
03 MHlZsSd X2 E2x 25,350 25,350
ORI 12,250
-d=a =k 710H 1,000,000 *14] 1,000
=& <M 260,000 *2H 520
-H9F 104 290,000& *25H 7,250
-2 S04 20,0002 *54H 1,080
-ORISEAIZ 0K 1,200,000 «2H 2,400
Ouszd N 6,500
- & EE
2,500,000& %14 2,500
-2dd CCIVEX ¥ EH
1,500,000 *14] 1,500
-2 et2 st
2,000,000 *14] 2,000
-0I=J1 EHl ¥ |l
500,000 *14] 500
ORl 2¢ X¥ 6,600
-ROIFHIAIAE 1,200,000 #3942 3,600
-AFR A 2 FL) Ul
500,000 *14] 500
-Z=H 04 1,000,000 *2CH 2,000
—ZElH 04 500,000 *1CH 500
AR SER2E 22| 27,358 22,104 5,254
202 04l 820 820 0
01 2LHoIH 820 820 0
OARIS2oE HLSHA A HR =
2o (22]) 70,0002 x2H+3 420
OA =R SRNE 3 2R2+d 2
LHOA8I 20,0008 x2& » 10 400
301 22N = 26,538 21,284 5,254
0 ARSRFE= 26,538 21,284 5,254
OAZSReE 24= 25,276
-2 800,000& x2H *12& 19,200
-S4l 8,0003 x2& »248! 3,968
pani=ts] 3,0003 2 »248! 1,488
- =4 309,600 x2H 620
OAZ =223 HHEE=
40,7003 *31H 1,262
|ZAElH SEXE 48,084 9%.684 /48,600
201 er2 3| 22,000 44,500 A22,500
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SN OHEAED
M HY2IAY|(rE A& D) (DIEHDIEH
Chel: J1=2 &l EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
02 2224l 6,725 19,928 A 13,203
ORERI(LLILH) 4002 %1,00024 400
ORER3(SII2H) 2,530% 2,500 6,325
203 HRF&lY| 4,200 4,200
M EN2HEHRFAY| 4,200 4,200
ORAN2ILRF&I 350,000& 12 4,200
MtSearstal olsEd2H| 13,588 11,023 2,565
Mt Setasa 225 s 13,588 11,023 2,565
101 214 d| 13,588 11,023 2,565
01 8= 12,648 10,048 2,600
OlfEeaas S22+ 12,648
6= 97,4502 1B+ 1Al 2H+ 26 2,534
= 88,0302 x1Z 1Al 2tx26E 2,289
= 79,0303 +2H *1 Al 2H263 4,110
9= 71,4303 2B+ 1Al 2263 3,715
2 IIE ™2 940 975 A35
OFaZE 72,2802 1B *TAI2H+ 133 940
HRES(UHEHLN) (SSEMLOHE /TN XY - 212<]) 214,950 176,806 38,144
LHENHHKIZ 214,950 176,806 38,144
ISHES 214,950 176,806 38,144
702 J12HEEZ 214,950 176,806 38,144
01 2I3d8EZ 214,950 176,806 38,144
Oxt2eDZ2 d&E2
21,495,000,0003 * 1% 214,950




